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Question I

It is easyto show the elasticity ofscale of a CES production
function is I
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b Show that'technology in constantreturnto scale then
no factors can be inferior

CRS fCtx tfcx Homogeneous of degree I
homogeneous productionfunction
Also homoThetin

Therefore applying JR Theorem34
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a Consistent
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b consistent

for example fcx Xs 3 Xzmin X X3

In this case the conditional input demand are
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Which is contradictory to thefantthat cost is mcreasy in y



d to is not consistent with Cost minimization as nell

if哿 Xi will not change when y charges

As fco o when y o x 0

Therefore X must be ahrayeo.at eachpossiblevalueofy
contradictory t the font that the firm has three inputs
we don't need x as mput in this case
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JR 4.23 Ramsey Rule

Q SupposeamonopohstfaeeregaT.vely slope demand P pq
and has cost C Cq F

Now Suppose the gov requires this firmTo set a price p
that max the sumof consumerd producer's surplus s.t

firm's revenue is non negative

Show fim will charge a price higherthan margmalc.it
and p will be proportionate to ix
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The optimal price pt will be strictly larger than the Mc
Reason b.c there is a fixed cost F if firm set p me

then the profit will be negative
瓦 obtain a non negative profit firms need to
set a higher price than marginal cost
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percentage deviation P willbe higher

firm has larger mkt power


